

Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: September 16, 2020

Progress Estimate Number	Contract ID 191213-B06	Pay Period Start September 2, 2020 Original Contract Amount \$3,592,854.45
Ω	Prime Contractor Emery Sapp & Sons, In	c. Pay Period End September 15, 2020 Net Change Order Amount \$14,950.00
8		Current Contract Amount \$3,607,804.45

					. , . , ,			
Approval Date					By User			
September 16, 2020		Generated and A	approved (and should be considered	d Draft) at the Project Office Level by	wilsod2			
September 17, 2020		Reviewed and Appro	ved (and should be considered Dra	ft) at the Resident Engineer Level by	lincom			
September 18, 2020		F	Reviewed and Approved at the Cen	tral Office Controllers Office Level by	greggd1			
Original Comp	letion Date	Current Completion Date	Actual Completion Date	% of Current Contract Amou	nt Complete			
November	1, 2020	November 1, 2020	35.45%					

No Milestones Exist for Contract

Contract Total Pa	y For Estimate No. 8				
		This Estimate	Previous	To Date	
191213-B06					
	Total Posted Items Pay	\$381,405.19	\$897,552.50	\$1,278,957.69	
	Gross Item Adjustments	\$0.00	\$0.00	\$0.00	
	Incentive	\$0.00	\$0.00	\$0.00	
	Disincentive	\$0.00	\$0.00	\$0.00	
	Liquidated Damage	\$0.00	\$0.00	\$0.00	
	Other Contract Adjustments	\$0.00	\$0.00	\$0.00	
	•		\$897,552.50	\$1,278,957.69	
Contract Total Pa	yable This Estimate:	\$381.405.19			

Items Paid This Estimate Period

Project Number	Line Number	Item Code	Item Description	Unit	Unit Price	Current Installed Qty	Current Installed Amount
J2S3184	0090	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	SQYD	\$115.000	130	\$14,950.00
	0201	6181000	MOBILIZATION	LS	\$42,210.000	0.25	\$10,552.50
	0230	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	SQYD	\$8.250	3,834	\$31,630.50
Project J	2S3184 - ⁻	Total					\$57,133.00
J2S3210	0290	4011211	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-2)	TONS	\$58.750	4,421.65	\$259,771.94
	0310	4079912	MISC.LOW-TRACK/NON-TRACK TACK COAT	GAL	\$3.250	4,925	\$16,006.25
	0330	6161005	CONSTRUCTION SIGNS	SQFT	\$8.000	942	\$7,536.00
	0340	6161008	ADVANCED WARNING RAIL SYSTEM	EA	\$50.000	2	\$100.00
	0350	6161009	FLAG ASSEMBLY	EA	\$28.000	10	\$280.00
	0360	6161025	CHANNELIZER (TRIM LINE)	EA	\$22.000	207	\$4,554.00
	0380	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	EA	\$3,400.000	1	\$3,400.00
	0390	6181000	MOBILIZATION	LS	\$18,500.000	0.5	\$9,250.00
	0430	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	SQYD	\$13.000	1,798	\$23,374.00
Project J	2S3210 - ⁻	Total					\$324,272.19
Overall -	Total						\$381,405.19

Contract Adjustments This Estimate

No Contract Adjustments Exist on Contract

Line Item	Adjust	ments This Estimate						
Project Number	Line No.	Item Description	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J2S3210	0310	MISC.	Material			-4,925	\$3.25	(\$16,006.25)
	0310	MISC.	Material		This adjustment offsets the original system- generated Overrun Payment Estimate Item Adjustment (0001) due to user wilsod2	4,925	\$3.25	\$16,006.25

Revision 4/1/2020 Page 1 of 9



Missouri Department of Transportation Contractor's Pay Estimate Summary

Pay Estimate Created Date: September 16, 2020

Progre		mate Number 3	Contract ID Prime Contra	191213- I ctor Emery S		Pay Period Start September 2, 2020 Orig Inc. Pay Period End September 15, 2020 Net Curr	Change Orde		4,950.00
Project Number	Line No.	Item Des	scription	Adjustment Type	Other Item Adjustment Type	Comments	Adjustment Quantity	Line Item Adjustment Unit Price	Adjustment amount
J2S3210						overridding Payment Estimate Exception 1 on the current Payment Estimate.			
Total									\$0.00

Revision 4/1/2020 Page 2 of 9



Missouri Department of Transportation Contractor's Pay Estimate Summary Project Details

					(Contract Project Information	on				
Project Number	Federal Proj. Number	Project Description	Route	County		,	Location of Work				
J2S3184	FAS S201(25)	Resurface	154	MONROE	from Route 24 at Paris to	0.4 miles west of Route 1	107				
J2S3210	FAS S201(28)	Resurface	154	MONROE	from 0.4 mile West of Rou	ute 107 to Route 19 near	Perry				
Totals by .	tals by Job Numbers										
J2S3184		d Item Pay Item Adjustm		s Item Pay	This Estimate \$57,133.00 \$0.00 \$57,133.00	Previous \$897,552.50 \$0.00 \$897,552.50	To Date \$954,685.50 \$0.00 \$954,685.50				
	Liquid	tive centive dated Damages Contract Adju		1	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00				
J2S3210		d Item Pay Item Adjustm		s Item Pay	This Estimate \$324,272.19 \$0.00 \$324,272.19	Previous \$0.00 \$0.00 \$0.00	To Date \$324,272.19 \$0.00 \$324,272.19				
	Liquid	tive centive dated Damages Contract Adju		ı	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00	\$0.00 \$0.00 \$0.00 \$0.00				

Revision 4/1/2020 Page 3 of 9



Missouri Department of Transportation Contractor's Pay Estimate Summary Exceptions

Exceptions (Discrepancies) This Estimate Period

Exceptions / Discrepencies	Explanation	Entered By	Status
Estimate Exception Type: Insufficient Materials: Project J2S3210, Item 4079912, Project Item Line Number 0310, Material Set 407991296, Material 1015EASS1VH - Emulsified Asphalt - Trackless Tack, Acceptance Action Generic AspEmulsion is insufficient.	Overridden waiting for Authorized Materials report.	wilsod2	Overridden

Revision 4/1/2020 Page 4 of 9



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)

Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	eport Generated date and can differ from the posted amo Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
191213-B06	J2S3184	0001	0010	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.00	\$8,000.00	\$0.00
		0001	0020	2153000	SHAPING SLOPES, CLASS III	9.00	0.00	9.00	100F	0.00	\$1,235.00	\$0.00
		0001	0030	3049910	MISC.TYPE 1 AGGREGATE FOR SHOULDER	6,911.30	0.00	6,911.30	TONS	0.00	\$19.00	\$0.00
		0001	0040	3105002	GRAVEL (A) OR CRUSHED STONE (B)	26.00	0.00	26.00	TONS	0.00	\$135.00	\$0.00
		0001	0050	4011211	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-2)	17,256.00	0.00	17,256.00	TONS	0.00	\$54.50	\$0.00
		0001	0060	4011213	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-3)	6,552.20	0.00	6,552.20	TONS	0.00	\$58.00	\$0.00
		0001	0070	4079912	MISC.LOW-TRACK/NON-TRACK TACK COAT	20,865.00	0.00	20,865.00	GAL	0.00	\$3.25	\$0.00
		0001	0080	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$750.00	\$0.00
		0001	0090	6131010	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	6,224.00	130.00	6,354.00	SQYD	6,354.00	\$115.00	\$730,710.00
		0001	0100	6131012	SUBGRADE COMPACTION (6 IN. DEPTH) (PAVEMENT REPAIR)	623.00	0.00	623.00	SQYD	0.00	\$1.00	\$0.00
		0001	0110	6131013	TYPE 1 OR 5 AGGREGATE FOR BASE (4 IN. THICK)	623.00	0.00	623.00	SQYD	0.00	\$1.00	\$0.00
		0001	0120	6131014	(PAVEMENT REPAIR) FULL DEPTH PAVEMENT REPAIR SAW CUT (FOR PERIMETER	23,340.00	0.00	23,340.00	LF	23,340.00	\$2.75	\$64,185.00
		0001	0130	6131015	AND INTERNAL SAW CUTS) DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION)	15,560.00	0.00	15,560.00	EA	15,560.00	\$3.35	\$52,126.00
		0001	0140	6161005	FOR FULL DEPTH PAVEMENT REPAIR CONSTRUCTION SIGNS	1,020.00	0.00	1,020.00	SQFT	1,020.00	\$8.00	\$8,160.00
		0001	0150	6161008	ADVANCED WARNING RAIL SYSTEM	4.00	0.00	4.00	EA	4.00	\$50.00	\$200.00
		0001	0160	6161009	FLAG ASSEMBLY	10.00	0.00	10.00	EA	10.00	\$27.00	\$270.00
		0001	0170	6161025	CHANNELIZER (TRIM LINE)	182.00	0.00	182.00	EA	182.00	\$22.00	\$4.004.00
		0001	0180	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	0.00	\$915.00	\$0.00
		0001	0190	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	1.00	0.00	1.00	EA	1.00	\$3,400.00	\$3,400.00
		0001	0200	6181000	MOBILIZATION	1.00	-1.00	0.00	LS	0.00	\$60,000.00	\$0.00
		0001	0201	6181000	MOBILIZATION	0.00	1.00	1.00	LS	1.00	\$42,210.00	\$42,210.00
		0001	0210	6206000C	4 IN. WHITE STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	140,965.00	0.00	140,965.00	LF	0.00	\$0.12	\$0.00
		0001	0220	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	73,547.00	0.00	73,547.00	LF	0.00	\$0.11	\$0.00
		0001	0230	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	3,834.00	0.00	3,834.00	SQYD	3,834.00	\$8.25	\$31,630.50
		0010	0240	6061074	MGS HEIGHT AND BLOCK TRANSITION	8.00	0.00	8.00	EA	0.00	\$800.00	\$0.00
		0010	0250	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	8.00	0.00	8.00	EA	0.00	\$3,200.00	\$0.00
		0001	5001	6189901	MISC.Contract Bond	0.00	1.00	1.00	LS	1.00	\$17,790.00	\$17,790.00
					ate as of Report Generated Date	4.00					40.500.00	\$954,685.50
	J2S3210	0001	0260	2022010	REMOVAL OF IMPROVEMENTS	1.00	0.00	1.00	LS	0.00	\$3,500.00	\$0.00
		0001	0270	2153000	SHAPING SLOPES, CLASS III	8.00	0.00	8.00	100F	0.00	\$925.00	\$0.00
		0001	0280	3105002	GRAVEL (A) OR CRUSHED STONE (B)	88.00	0.00	88.00	TONS	0.00	\$100.00	\$0.00
		0001	0290	4011211	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-2)	13,822.40	0.00	13,822.40	TONS	4,421.65	\$58.75	\$259,771.94
		0001	0300	4011213	BITUMINOUS PAVEMENT MIXTURE PG64-22, (BP-3)	632.30	0.00	632.30	TONS	0.00	\$77.90	\$0.00
		0001	0310	4079912	MISC.LOW-TRACK/NON-TRACK TACK COAT	11,588.00	0.00	11,588.00	GAL	4,925.00	\$3.25	\$16,006.25
		0001	0320	6123000A	TRUCK OR TRAILER MOUNTED ATTENUATOR (TMA)	2.00	0.00	2.00	EA	0.00	\$750.00	\$0.00
		0001	0330	6161005	CONSTRUCTION SIGNS	942.00	0.00	942.00	SQFT	942.00	\$8.00	\$7,536.00
		0001	0340	6161008	ADVANCED WARNING RAIL SYSTEM	2.00	0.00	2.00	EA	2.00	\$50.00	\$100.00
		0001	0350	6161009	FLAG ASSEMBLY	10.00	0.00	10.00	EA	10.00	\$28.00	\$280.00
		0001	0360	6161025	CHANNELIZER (TRIM LINE)	207.00	0.00	207.00	EA	207.00	\$22.00	\$4,554.00
		0001	0370	6161040	FLASHING ARROW PANEL	2.00	0.00	2.00	EA	0.00	\$925.00	\$0.00
		0001	0380	6161098A	CHANGEABLE MESSAGE SIGN WITHOUT COMMUNICATION INTERFACE, CONTRACTOR FURNISHED, CONTRACTOR RETAINED	1.00	0.00	1.00	EA	1.00	\$3,400.00	\$3,400.00
		0001	0390	6181000	MOBILIZATION	1.00	0.00	1.00	LS	0.50	\$18,500.00	\$9,250.00

Revision 4/1/2020 Page 5 of 9



Missouri Department of Transportation Contractor's Pay Estimate Summary Contract Line Items and Total Paid for All Estimates

Total Paid / All Items / All Estimates (Including this Estimate)
Note: Posted Quantities and Values are based on Report Generated date and can differ from the posted amount at the time the Estimate was Generated.

Contract Nm.CONTRACT	Project No.	Category	Line No.	Item Code	Description	Bid Quantity	Net Change Order	Total Current Quantity	Unit	Total Posted Approved Qty	Unit Price	Total Value POSTED To Date (See report generated date)
191213-B06	J2S3210	0001	0410	6206001C	4 IN. YELLOW STANDARD WATERBORNE PAVEMENT MARKING PAINT, TYPE P BEADS	53,502.00	0.00	53,502.00	LF	0.00	\$0.11	\$0.00
		0001	0420	6221001	COLDMILLING BITUMINOUS PAVEMENT FOR REMOVAL OF SURFACING (3 IN. THICK OR LESS)	12,843.00	0.00	12,843.00	SQYD	0.00	\$1.00	\$0.00
		0001	0430	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	1,821.00	0.00	1,821.00	SQYD	1,798.00	\$13.00	\$23,374.00
		0010	0440	6061060	MGS GUARDRAIL	125.00	0.00	125.00	LF	0.00	\$29.00	\$0.00
		0010	0450	6061069	MGS BRIDGE APPROACH TRANSITION SECTION (REGULAR/NO CURB)	6.00	0.00	6.00	EA	0.00	\$2,950.00	\$0.00
		0010	0460	6063014	TYPE A CRASHWORTHY END TERMINAL (MASH)	6.00	0.00	6.00	EA	0.00	\$2,950.00	\$0.00
	Project J	2S3210 - To	otal Value	Posted to D	ate as of Report Generated Date							\$324,272.19
191213-B06 Ove	rall - Total	Value Pos	ted to Da	te as of Repo	ort Generated Date							\$1,278,957.69

Revision 4/1/2020 Page 6 of 9



Missouri Department of Transportation Contractor's Pay Estimate Summary Installed Locations of Paid Line Items (This Estimate Only)

The information below this line is supplemental to the Estimate and is provided for confirmation of detail, location and quantity of work.

Project: J2S3184

Line Number	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log Mile	Offset/ Distance	To Station/ Log Mile	Offset/ Distance	Comments
0090	6131010	FURN & PLACE CONC MATL FOR FULL DEPTH	9/15/20	9/16/20	130.00	SQYD		13.341		6.598		
0201	6181000	MOBILIZATION	9/15/20	9/16/20	0.25	LS		0.017		13.341		
0230	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	9/15/20	9/16/20	3,834.00	SQYD	Various locations on mainline and entrances.	0.017		13.341		

Project: J2S3210

Line lumber	Item Code	Description	DWR Date	DWR Approval Date	Quantity Posted	Units	Location	From Station/ Log	Offset/ Distance	To Station/ Log	Offset/ Distance	Comments
0290	4011211	BIT. PAVEMENT MIXTURE PG64-22 (BP-2)	9/15/20	9/16/20	100.00	TONS	EB Lane of Rte. 154 - Top Lift	Mile 20.128		Mile 20.228		
				9/16/20			EB/WB of Rte. 154 - Top Lift Parking Areas and Rte. B and J Junction.	20.317		20.966		
				9/16/20	470.00	TONS	WB Lane of Rte. 154 top lift.	20.317		20.966		
				9/16/20	540.00	TONS	EB Lane of Re. 154 - Top Lift	20.317		20.966		
				9/16/20	701.80	TONS	EB Lane of Rte. 154 - Top Lift	20.966		22.398		
				9/16/20	837.24	TONS	WB Lane of Rte. 154	20.966		22.398		
				9/16/20	1,572.61	TONS	WB Lane of Rte. 154 - Top Lift	17.796		20.228		
0310	4079912	MISC. NON STANDARD TACK COAT	9/15/20	9/16/20	1,200.00	GAL	WB Lane of Rte. 154	17.796		20.228		
				9/16/20	1,850.00	GAL	WB Lane of Rte. 154	20.317		22.398		
				9/16/20	1,875.00	GAL	EB Lane of Rte. 154	20.317		22.398		
0330	6161005	CONSTRUCTION SIGNS	9/15/20	9/16/20	942.00	SQFT		13.341		22.398		
0340	6161008	ADVANCED WARNING RAIL SYSTEM	9/15/20	9/16/20	2.00	EA		13.341		22.398		
0350	6161009	FLAG ASSEMBLY	9/15/20	9/16/20	10.00	EA		13.341		22.398		
0360	6161025	CHANNELIZER (TRIM LINE)	9/15/20	9/16/20	207.00	EA		13.341		22.398		
0380	6161098A	CMS W/O COMMUNICATION INTERFACE, CONT F/	9/15/20	9/16/20	1.00	EA		13.341		22.398		
0390	6181000	MOBILIZATION	9/15/20	9/16/20	0.50	LS		13.341		22.398		Mobilization @ 10% of contract.
0430	6224010	MODIFIED COLDMILLING (DEPTH TRANSITIONS)	9/15/20	9/16/20	1,798.00	SQYD	Various Locations and entrances.	13.341		22.398		Various Butt Joints and entrances.

The information below this line are details from Line Item agency views. No Agency View Details Exist

Revision 4/1/2020 Page 7 of 9



Missouri Department of Transportation Contractor's Pay Estimate Summary Line Item Adjustments - All Estimates

Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0090	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	Material	1,900	2	Jun 16, 2020	SYSTEM	(\$210,898.50)	
				3	Jun 30, 2020	SYSTEM	(\$404,489.50)	
				3	Jun 30, 2020	SYSTEM	\$404,489.50	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user wilsod2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				4	Jul 15, 2020	SYSTEM	(\$642,608.50)	
				4	Jul 15, 2020	SYSTEM	\$642,608.50	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) due to user wilsod2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
				5	Aug 3, 2020	SYSTEM	(\$715,760.00)	
				5	Aug 3, 2020	SYSTEM	\$715,760.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) due to user wilsod2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
		- Total				(\$210,898.50)		
	Material - Total						(\$210,898.50)	
	FURNISHING AND PLACING CONCRETE MATERIAL FOR FULL DEPTH PAVEMENT REPAIR	MaterialCredit		3	Jun 30, 2020	SYSTEM	\$210,898.50	
			- Total				\$210,898.50	
	MaterialCredit - Total						\$210,898.50	
0090 -	otal						\$0.00	
0130	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	Material		2	Jun 16, 2020	SYSTEM	(\$15,359.75)	
				3	Jun 30, 2020	SYSTEM	(\$29,456.55)	
				3	Jun 30, 2020	SYSTEM	\$29,456.55	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0004) due to user wilsod2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
				4	Jul 15, 2020	SYSTEM	(\$46,799.50)	
				4	Jul 15, 2020	SYSTEM	\$46,799.50	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user wilsod2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
				5	Aug 3, 2020	SYSTEM	(\$52,126.00)	
				5	Aug 3, 2020	SYSTEM	\$52,126.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0002) due to user wilsod2 overridding Payment Estimate Exception 2 on the current Payment Estimate.
				6	Aug 17, 2020	SYSTEM	(\$52,126.00)	
				6	Aug 17, 2020	SYSTEM	\$52,126.00	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) due to user wilsod2 overridding Payment Estimate Exception 1 on the current Payment Estimate.
	- Total						(\$15,359.75)	
	Material - Total				0.10	(\$15,359.75)		
	DOWEL BAR (DRILLING, FURNISHING AND INSTALLATION) FOR FULL DEPTH PAVEMENT REPAIR	MaterialCredit		3	Jun 30, 2020	SYSTEM	\$15,359.75	
	- Total			al			\$15,359.75	
	MaterialCredit - Total					\$15,359.75		
0130 -	- Total						\$0.00	
0310	MISC. LOW-TRACK/NON-TRACK TACK COAT	Material		8	Sep 16, 2020	SYSTEM	(\$16,006.25)	
				8	Sep 16, 2020	SYSTEM	\$16,006.25	This adjustment offsets the original system-generated Overrun Payment Estimate Item Adjustment (0001) due to user wilsod2

Revision 4/1/2020 Page 8 of 9



Missouri Department of Transportation Contractor's Pay Estimate Summary Line Item Adjustments - All Estimates

Line	Description	Adjustment Type	Other Adjustment Type	Est. Number	Created Date	Created By	Amount	Remarks
0310	MISC. LOW-TRACK/NON-TRACK TACK COAT	Material						overridding Payment Estimate Exception 1 on the current Payment Estimate.
		- Total				\$0.00		
	Material - Total						\$0.00	
0310 -	- Total					\$0.00		
Overa	all - Total					\$0.00		

Revision 4/1/2020 Page 9 of 9